X=-137253. 350 X=-137053. 350
Y= -28561. 100 Y= -28561. 100

| Y ©®200 3.35 0.00

Oz,
74 0 A

|

|
X=-137253. 350 X=-137253. 350
Y= -28861. 100 Y= -28561. 100

Om

20m

1/500

40m

60m

80m

)

-m
K

y

&5 |

—23

3 g 3t 2 3t X

ok
=

H-22 J-22
H-23 J-23
H-24 [-24 J-24
N
N, B
R B & B
— BEEE
—_— BmEE
e THHEER
. B A
_ PN T Ghe3c
. e
_—— = BREEE
AR
—be— i
A A
@ 1SAH ©) MO (D)
) 28 A% ® MO (E)
® 3SAF, ® MO (F
@ ASAA ® MO (@)
55 AT, o) IMOeE (2)
(6] 65AL, ® @82 0)
© | osAn
O HEAZL ® py
D EEZATL & anie
O k= e
H1SAH | Few it
B2SAA = O
HISAA Y T8
BHASAA mipis
BTSAR I BHTts
® MOE (A) & Z ot
MO (B) ) 68
© Mo (C)
R T
-8 iy ® | Traa
= 3
@ Ad200 @ b# 250
@ B# 300 [ ] z
@ C#350 O ESaE
® Dé400 ® BB AU
* Ed 450 | FrwJik
L F & 500 @ 08
o ad 150 ® R T
AR OB #
AES  oEe
® 51 24.768
W OE R #
BME BNE 2 B® DR X5
\\A!U 5200‘/11 62“;; 19 L{;n
©< 23. 559 23 785 ®
TREES THREES
EE EWE BE Ok X5
VA S ~a
VU ©200 11.62%0 19. 45m
/ 23 559 23 785
THEES CrEES
Op ®
W OE R M
EHE WUOR IUTEIER H0RERE
—@ ( O150 0.68 10.50
FIRNTR




